2@ 00 |
e§3335| 1612019

Send your Feedback to vidya@sakshi.com

D8 D

BTB0

86, @088/ Learn English
General Studies- Current Affairs

® 53 apBO Di5e5..
V8o

2366 HAD/esBesbed- ard

IBPS Clerks - Numerical Ability

VONT B0
BS6S YD/ esBesbes- O
IBPS Clerks - Reasoning

0G50 (gWleVIaLleTo) DERG0
BS6S HED/e6es5e8 - AP PDHBEG)  BISS YD ebesbes- 830 Wb,y 836S HET/Besbes- AP
IBPS Clerks - General English JEE Main - Maths JEE Main- Physics

OGO B30 30850

SDB0
B36S HAD/Besbe - D,
JEE Main- Chemistry

D0eS ¢

Q53

28 Fot3% B8 1) 252 2) 266 Sx+2x _ 42 8, 15,17 & 15% 17
@ 3) 259 1) 225 T30 60 64 +255 = 289
DDADE S5O 2; Tx _42 9, 10, 11en 2EmocHS (@seen
TS Ko SEHS Hedezeen 30 60 18. Siet 85@@_‘23“6055 65)  §°6aasR
7x, 7x + 7, 7x + 14 42 30 Hensod 5l 0., wond wm°d
X=—_ X N
De3 3o 60 7 g0 N0oB(200.8.08°%)?
6’1)3&0:)@2)) TX+T7x+7T+7x+ 14 =777 x=3 1) 21 2) 10.5
~ 21x + 21 =777 Rwdo rso = 3 8.5, 3) 21 1) 13.5
1. x(25%)(25%)(25%) Qenss 25 21x =777 - 21 10. 25 0. &. TgFTo 68) HEFSS® @ 1
21x = 756 3005 &% Qemdore B /_\
WOND X Dens o ?
L2756 o SHE o 50D, @ SESED wgHBo Hey Fod M + 2r = 54
1) 1600 2) 1500 21 aHe20 o ( 20,8.08%)? ]
3) 1400 4) 1200 x =36 1) 39.25 2) 29.5 122, 2] _ sy
a2 1; T S tHedezoen 3) 89.5 4) 29.25 | 7
x (25%)(25%) (25%)= 25 Tx =7 x 36 = 252 e o HoHd ahd =93kg @ 1 r"22+14] .
x D BB Tx+7=7x36+7=259 Hohd oS wth = 15.5 kg % L 7
100 100 100 7x + 14 =7 x 36 + 14 = 266 afre Socs § wxhid = 69 kg ri6]=54
= 25%100x100x100 ¢ thedezo = 266 Boeh& Dot wthy = x kg | 7
25%x25%25 8. X 5. Fodwrr &) ¥ Ko 93:155=69 : x )8 $06 = Bl &EH rosax | 221
x=4x4x 100 e SBose God. & SEowe Sen o65g BePre 00 = wody e ©80 D BB = 2Tr 36 2
x = 1600 2 &. wand e é?@go(é.gb.@@s)? I5.5x69=9%xx =2x3.14%x25cm r:il
2. 50, 150 © oefy T Ahiore erAod 1)80 2)68 3840  4)18 = 12%69 8K &9 =2 % 3.14 x 25 cm 2
Qogge S0go Nod? 2; 93 &K &Y = S8 B0 ey Fod g0 = 2r
1) 1162 2) 1100 x=11.5kg 2x3.14x25=4xa O S
3) 1172 4) 1421 m Soh& Mocs § wthy = 11.5 kg o 2%3.14x25 2
e, 4; 8m5m e, Y, JosSe Srfen 08HH 40 7
50, 150e 065y 1 Rﬁgcﬁom 2P A0 m 8. (. @@8HYen dSSo0. a=1.57 x25 =39.25 20,%. 14, S35 Jegedes 308 ééﬁg@e‘é 37°
Soggen 96, 63, 10, T7...147 ooer 2athe 468.(. wond 8 2N 11 A ABC & DE || BC AD _3 w08 US rsrsos® A28
0e5e3 Heso (a) = 56 &9 BFSHTED Frego Do ?(8.7.) ' * DB 5 BSPSS SQPHS?
Fosrse B0 (d) = 63 =56 =7 = &S x Deken 140  2)39 3)88 4) 31 el 1) 98.4° 2) 98.6°
s s t =147 x5 4; oo et = 46 kg AC= 560, eond AE Fos? 3) 96.8° 1) 948°
t =a+(n-1)d = 40m? 6%, Ro¥Se a5 = x kg 1) 21 2) 2.3 &, 2
147=56+(n-1)x 7 22058 &Y $EBPo Y ez, &5, FoESe HTH wHY 3) 16.8 4) 34 C= 37°
147 -56 =7 x (n -1) =8+2+2=12%. _46+x+x_ & 1; . el
91 =7x(n-1) ey =5+2+2=9 . 5
(n-1) = N _ 15 2ahe BFBHRo FTego =46 + 2x =3 x 40 : _ 93741
7 = D x Debeoy 2x = 120 - 46 5
n-1=13 =12x9 2x = 74 =9x74+32
n=13+1=14 — 108 &2 TA o i ‘ = 66.6 + 32
n=14 SEow® FFeeg0 2 AD _ AE = 98.6F
56, 63,70, ...147&8° 7 X)'F?Q?qurv’ EATatota = 200H8 §.5.3. — 859 H.8.3. 69, o8 a2y =37 kg DB EC (|@rgE edard 15. 2.8 505 w8y Hedo gfrargo,
5 N =108 — 40 = 68 &.2 28 $58 S SEOS SrSos 2/8 2ero0) oo SHIe 8 M., 3 ., HEeso
Sopge dnge = S (a+) o8 hToe T SHHe  [BEeS S0 4 8.8./Ho. SrfoEsre, Dof 37 AE 33 Sety 55 $.80.5 .70 eond
= o010 ! ~=""=3:5=AE:EC R B0 D05 &
_ E(56+147) SISING ?é&@@ 08  20%esb8ome N CSJ°U°@& 5 8.&./K0.3K08" 5 s 80 R0HTRE 956@")(326
2 (8300 D 10% &(%T’Zyoés az‘l)Qé S&wred. &3 TP &SR8 gSaroio: S8 O ( Se.o8°)?
=7 (203) ©BD8 $iy orefTEo QoS ? Ingo 42 . Jhado HEB & B68 AC=5.6cm 1) 440 2) 4400
= 1421 D15% 2)12% 38)10% 4)8% 805 [ngo &8 dod DE I BC 3) 4440 4) 4447
8. ®gbmo o ey §%s0 105°, o 4; (8.8.08%)7? .'.AE=AC><—3 3. 2;
90STeS0e SPeseen 2 1 5 :0?.303@6‘5 28 S50 KB o8 a% wh¥orr )9 2)6 12 43 3+5 h=3&,d=88&., r=4 &.
08 &5 HeHes SPesren AD? 880D, Tl b% &IJ?0& 3 4; :AC><—3 HEedo (F058) e FTogo
1) 30°, 75°, 75° :( b )% 558 $EDS Bodo wrdo = x 8.8, 8 = Turl
eP8IBE0 a
2) 100°, 50°, 30° 100 9508083 =5.6><—3 1= nZ+r2 =32+ 42 =J9+16
3) 60°, 45°, 75° af $0Y B8 Jo go& 20% ¢ St 2 © o _2x 8
4) 50°, 55°, 75° whsore  (@¥80D, @  10% 3 3 AE=2.1 cm 1=J25=5
@ 1; Osbe erdey Swo, (Baba &J%)085 8y orafTso 3ifo 4 8.8/ Ko. 12. 8ob 838° peAteahs  (§¥o $EH S FTego
wodoeddnyw  Slerey el B 20x10 _2x _x ARE ? 22
5550 ) 17 00 )% T T34 6 O 1)8,4,5 2) 5, 12, 13 = Tl == xdxs
wodTring e MG 2 : 5 _ 10_@)%:00_2)%:8% R . N 3)9,10,11  4)8 15 17 o 2 a5 5% 70 = 4400
0BT Xy e o = 105 100 3 3 3. 3: 7
2x + 5x =105 = 7x =105 F°8E P AohSre  (Hedo S0 =5 8Qv/Ho. PEATOAHS (B0 908 ‘A7 Botd  16. AB, C en a8 S008° AJT° Loeed
x=1—0§ 15 BB SKY 2D, WP ©d o0 = &efo _ x _ x < Sogge Stre Ingo T Sosg DothPhen ewand & 8od o3&
553 ahHew  ohIsos® dfo 3x5 15 T SR8 B5B0” edhy BSomgen Fes50 TR0 D6 ?
wodTrsne e goerow. 98 880 ahPX) e BP0 ErE0 $EST8 HeEBS oo 3,4,5 3% 42 52 1) AB + BC=AC
2x =2 x 15 =30° HHHD  Sohdd 155 88 = 42 doapen 9+ 16=25 2) AB + BC > AC
Sx=5x%x15=75° S, weorf 63 88%en b &) & _2 5,12,13 52 122 132 3) AB + BC < AC
So3ed 580 = 180 - (15+30) = 75° BoEhAP Hrf wthsh) oS ?(8.1r.) 60 25 +144 = 169 4) AB + BC > AC
4, TH S SEHS Hedere Indo TTT 1) 11.5 2) 10.5 X ox_42 9,10, 11 9% 10% 112 . 3;
wond TS e HedEo JoS? 3) 12.5 1) 135 6 15 60 81 +100 = 121 AB +BC < AC

epaper.sakshi.com



o8 D

Send your Feedback to vidya@sakshi.com

220G 00 |
©8%51 1612019

The Amarnath cave in the Himalayas is..

R. Srinivasa Rao

Subject Expert

MODEL QUESTIONS

Directions (Q. 1-10): Read the
following passage carefully and
answer the questions given below it.
Certain  words/phrases have been
printed in bold to help you locate
them while answering some of the
questions.

Consider this situation: Your
organization has just laid off 20% of
its workforce, and you and your team
have to pick up the extra work. To
make matters worse, the organisation
has been losing money throughout
the economic downturn, and the
leadership team expects increased
productivity rates from the staff. To
top it off, a pay freeze has been put in
place for the next 18 months.

For many workers, this work
place situation is a reality. Increased
workloads,  high-stress  working
environments, and stagnant wages
are creating a perfect storm for low
morale and motivation in the office.
This combination creates a vicious
cycle. As motivation and morale fall,
so does your ability to produce
quality work and stay productive,
which can make you more
vulnerable to a layoff.

When organizations go through a
round of layoffs to trim expenses, the
remaining employees are often left
with an increased workload without
additional compensation. This can
make anyone feel stretched to the
breaking point. Knowing how to
prioritize your work is essential for
focusing on important, and not just
urgent, work.

"Professionals need to focus on

high value, high importance tasks,"
states Manktelow. "They need to
delegate, renegotiate, delay, or
eliminate low value activities. By
prioritizing intelligently, people can
actually increase the importance,
quality, and value of their work, at
the same time that they bring their
workload back under control".

With the threat of layoffs
looming and a to-do list spanning
several pages, it's tempting to come
in early, skip lunch, and stay late in
order to show your worth and get
everything  accomplished. = But
spending this much time working
without a break can quickly lead to
exhaustion and career burnout.

Experts say it is essential you
take time for yourself during the day
to give your mind a break and
recharge. No one can focus
effectively for eight hours straight.
Every hour, take five minutes away
from your desk. Go for a short walk,
drink water, and stretch. Even a little
amount of exercise will get your
blood flowing, help relieve stress,
and help you focus better. And make
sure your take the time for a healthy
brown bag lunch.

1. According to the author, what are
creating a perfect storm for low
morale and motivation in the
office?

1) Decreased workloads, high-

stress and variable wages

2) Increased workloads, stressful

working environment and
stagnant wages
3) Non-cooperation, stress and

low wages
4) Rough behaviour, indiscipline
and low wages
5) None of these
2. Manktelow has opined some
fundamental things regarding pr-
ofessionals. Which of the foll-
owing is not correct in this
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1) Professionals need to focus on
high value tasks.

2) Professionals need to del-
egate, renegotiate or eliminate
low value activities.

3) By prioritizing intelligently,
professionals can increase the
value of their work

4) Professionals need to focus on
low importance tasks

5) None of these

3. According to the author, when
organizations go through a round
of lay offs to trim expenses, the
remaining employees are often
left with

1) An increased workload with
compensation

2) A decreased workload with
compensation

3) An increased workload wi-
thout additional compensation

4) NO risk, no gain

5) None of these

4. Which of the following sta-
tement(s) is/are true with regard
to the opinions expressed by
experts for sound and healthy
working?

1) No one can focus effectively
for eight hours straight

2) One should take five minuets
away from one's desk off
every hour.

3) One should go for a short
walk, drink water and stretch

4) Even a little amount of
exercise helps you relieve
stress and focus better

5) All the correct

S. Which of the following does not
match with the situation cons-
idered by the author?

) Your organisation has just laid
off 30% of its work force

2) You and your team have to
pick up the extra work

3) The organisation has been
losing money throughout the
economic downturn

4) A pay freeze has been put in
place for the next 18 months

5) None of these

Directions: (Q. 6-8): Choose the

word/group of words which is most

similar in meaning to the word/group
of words printed in bold as used in
the passage.

6. LAY - OFF
1) Make redundant

e

2) Spread 3) Set out
4) To knock unconscious
5) Put down

7. VULNERABLE
1) Strong
2) Weak and easily hurt
3) Valued
4) Waggish
5) Volatile

08. EXHAUSTION
1) Exhaustive 2) Exercise
3) Execution  4) Being tired
5) Excoriation

Directions (Q. 9-10): Choose
the word/group of words which is
most opposite in meaning to the
word/group of words printed in bold
as used in the passage.

9. VICIOUS

1) Critical 2) Severe

3) Inspiring  4) Virtuous

5) Violent and cruel
10. STAGNANT

1) Static 2) Constant
3) Staid 4) Stagy
5) Dynamic

Directions (Q. 11-20): In the
following passage, some of the
words have been left out, each of
which is indicated by a number. Find
the suitable word from the options
given against each number and fill up
the blanks with appropriate words to
make the paragraph meaningful.

The Amarnath cave in the
Himalayas is (11) only during a short
period in a year, usually June/July-
August, when (12) the cave, an ice
lingam forms that (13) its full form
on full moon day. On that day, Shiva
is (14) to have revealed the secret of
life to his consort Parvati, the
beautiful daughter of Himalayas.

At this moment, according to
legend, a pair of pigeons appeared
and (15) the talk; they are the same
pigeons who visit the shrine (16) the
yatra period. Some believe the
pigeons are Shiva and Parvati (17).
The Amarnath Yatra (18) with the
Chhari Mubarak ceremony at the
Dashnami Temple, Srinagar. Then
the yatris (19) to Pahalgam, and then
to Chandanwari. The steep climb to
Pishu Ghati (20) yatris that the path

to salvation is not easy.

11. 1) Susceptible 2) Accessible
3) Restricted

4) Attainable 5) Exposed
12. 1) At 2) Over
3) Besides 4) Inside
5) Under
13. 1) Makes 2) Attains
3) Takes 4) Gets
5) Have
14. 1) Believed 2) Linked
3) Assessed  4) Criticised
5) Asked
15. 1) Appreciated 2) Judged
3) Stopped 4) Overheard
5) Started
16. 1) Along 2) Before
3) Among 4) Amidst
5) During
17. 1) Wife 2) Incarnate
3) Shape 4) Idol
5) Goddess
18. 1) Commences 2) Launches
3) Goes 4) Reckons
5) Initiates
19. 1) Push 2) Pass
3) Proceed 4) Continue
5) Get
20. 1) Remembers 2) Forces
3) Proposes  4) Says
5) Reminds
KEY AND EXPLANATIONS
D 2, 2)4 S)i5;
4) 5 51
6) 1;

Lay-off = to stop employing
because there is not enough

work to do.

T 2;
Vulnerable  (Adjective) =
Weak and easily hurt.

8) 4

Exhaustion (Noun) = The state
of being very tired

9 4
Vicious (Adjective) = Violent
and cruel, brutal

10) 5;
Stagnant (Adjective) =
developing, static

Not

11) 2; 12) 4; 13) 2;
14) 1, 15) 4; 16) 5;
17) 2; 18) 1; 19) 3;
20) 5;



